Naam: JuniorEinstein.nl

Kommagetal vermenigvuldigen met 10, 100 of 1.000

[1]

Oefening 1 Oefening 2

1. 333 x 10 = 1. 761 x 100 =
2. 917 x 100 = 2. 138 x 10 =
3. 6,86 x 100 = 3. 735 x 100 =
4. 527 x 100 = 4. 2,42 x 1.000 =
5 6,13 x 100 = 55997 x 10 =
6. 280 x 10 = 6. 825 x 100 =
7. 7,76 x 1.000 = 7. 490 x 100 =
8. 5,98 x 1.000 = 8. 3,88 x 100 =
9. 2,43 x 1.000 = 9. 337 x 100 =
10. 828 x 10 = 10. 1,49 x 100 =
Oefening 3 Oefening 4

1. 365 x 100 = 1. 790 x 10 =
2. 211 x 10 = 2. 799 x 10 =
3. 5,49 x 1.000 = 3. 2,86 x 100 =
4. 5,79 x 1.000 = 4. 1,92 x 1.000 =
5 6,22 x 1.000 = 5 4,70 x 1.000 =
6. 895 x 100 = 6. 297 x 10 =
7. 1,80 x 1.000 = 7. 561 x 10 =
8. 781 x 10 = 8. 791 x 100 =
9. 3,56 x 1.000 = 9. 576 x 100 =

10. 7,60 x 100 = 10. 1,78 x 10 =
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Antwoorden: Kommagetal vermenigvuldigen met 10,
100 of 1.000 [1]

Oefening 1 Oefening 2

1. 3,33 «x 10 = 33,3 1. 7,61  «x 100 = 761
2. 9,17 «x 100 = 917 2. 1,38 «x 10 = 13,8
3. 6,86 x 100 = 686 3. 7,35 «x 100 = 735
4. 527 «x 100 = 527 4. 242 x 1.000 = 2420
5. 6,13 «x 100 = 613 5. 9,97 «x 10 = 99,7
6. 2,80 «x 10 = 28 6. 8,25 «x 100 = 825
7. 7,76 x 1.000 = 7.760 7. 490 «x 100 = 490
8. 598 x 1.000 = 5.980 8. 3,88 «x 100 = 388
9. 243 x 1.000 = 2.430 9. 3,37 «x 100 = 337
10. 8,28 «x 10 = 82,8 10. 1,49  «x 100 = 149
Oefening 3 Oefening 4

1. 3,65 «x 100 = 365 1. 7,90 «x 10 = 79
2. 2,11 «x 10 = 21,1 2. 7,99 «x 10 = 79,9
3. 549 x 1.000 = 5.490 3. 2,85 «x 100 = 285
4. 579 x 1.000 = 5.790 4. 1,92 x 1.000 = 1.920
5. 6,22 x 1.000 = 6.220 5. 470 x 1.000 = 4.700
6. 8,95 «x 100 = 895 6. 2,97 «x 10 = 29,7
7. 1,80 x 1.000 = 1.800 7. 561 «x 10 = 56,1
8. 7,81  x 10 = 78,1 8. 7,91 «x 100 = 791
9. 356 x 1.000 = 3.560 9. 576 «x 100 = 576
10. 7,60 x 100 = 760 10. 1,78  «x 10 = 17,8
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